Bid #Y2113648C1 - Remote Storage and Pumping 1A1 and 1B1 Generator Replacement

Creation Date Mar 3, 2017 End Date May 12, 2017 2:00:00 PM EDT

Start Date Mar 20, 2017 10:48:10 AM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Intercounty Engineering,Inc. [Ad]	First Offer - \$11,000.00	1 / lump sum	\$11,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
PC Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: The supporting documents Questionnaire and Litig Projects in Progress, 03	following three attacher for the Acknowledgen ation History: 01 Key F	nent Form		
Florida Design Drilling Corp.	First Offer - \$38,000.00	1 / lump sum	\$38,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlantic Concrete and Mechanical Inc	First Offer - \$42,500.00	1 / lump sum	\$42,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Hinterland Group, Inc. [Ad]	First Offer - \$47,000.00	1 / lump sum	\$47,000.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Mills Elecric Service, Inc. [Ad]	First Offer - \$51,765.00	1 / lump sum	\$51,765.00		Υ	
ivillis Electic Service, inc. [Ad]	40.1,700.00		, , ,		•	

Y2113648C101- 02 Performance and F	Payment Guaranty and	Lineurance				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
PC Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Florida Design Drilling Corp.	First Offer - \$38,000.00	1 / lump sum	\$38,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlantic Concrete and Mechanical Inc	First Offer - \$42,500.00	1 / lump sum	\$42,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Intercounty Engineering,Inc. [Ad]	First Offer - \$42,900.00	1 / lump sum	\$42,900.00		Υ	
		Supplier Product Code: Supplier Notes:				

Mills Elecric Service, Inc. [Ad]	First Offer - \$51,765.00	1 / lump sum	\$51,765.00	Υ	Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Hinterland Group, Inc. [Ad]	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Υ	
		Supplier Product Code: Supplier Notes:				

Y2113648C101-03 Electrical, Generate	or, Fuel Work					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
PC Construction Co.	First Offer - \$674,200.00	1 / lump sum	\$674,200.00		Υ	
		Supplier Product C Supplier Notes:	Code:			
Florida Design Drilling Corp.	First Offer - \$675,000.00	1 / lump sum	\$675,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Mills Elecric Service, Inc. [Ad]	First Offer - \$706,155.00	1 / lump sum	\$706,155.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlantic Concrete and Mechanical Inc	First Offer - \$742,000.00	1 / lump sum	\$742,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Hinterland Group, Inc. [Ad]	First Offer - \$750,000.00	1 / lump sum	\$750,000.00		Υ	
		Supplier Product C Supplier Notes:	Code:			
Intercounty Engineering,Inc. [Ad]	First Offer - \$885,307.00	1 / lump sum	\$885,307.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

Y2113648C101- 04 Booster Pumps						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Intercounty Engineering,Inc. [Ad]	First Offer - \$196,100.00	1 / lump sum	\$196,100.00		Υ	
		Supplier Product C Supplier Notes:	Code:			
Hinterland Group, Inc. [Ad]	First Offer - \$300,000.00	1 / lump sum	\$300,000.00		Υ	
		Supplier Product C Supplier Notes:	Code:			
PC Construction Co.	First Offer - \$350,000.00	1 / lump sum	\$350,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Design Drilling Corp.	First Offer - \$350,500.00	1 / lump sum	\$350,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlantic Concrete and Mechanical Inc	First Offer - \$417,000.00	1 / lump sum	\$417,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Mills Elecric Service, Inc. [Ad]	First Offer - \$510,389.00	1 / lump sum	\$510,389.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

Y2113648C101-05 Cut-In 12-inch Gate Valve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Intercounty Engineering,Inc. [Ad]	First Offer - \$7,126.00	1 / each	\$7,126.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

Atlantic Concrete and Mechanical Inc	First Offer - \$10,000.00	1 / each	\$10,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Florida Design Drilling Corp.	First Offer - \$12,500.00	1 / each	\$12,500.00	Υ	
		Supplier Product Code: Supplier Notes:			
Hinterland Group, Inc. [Ad]	First Offer - \$15,000.00	1 / each	\$15,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PC Construction Co.	First Offer - \$16,600.00	1 / each	\$16,600.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Mills Elecric Service, Inc. [Ad]	First Offer - \$30,286.00	1 / each	\$30,286.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Y2113648C101-06 Cut-In 24-inch Ga	ite Valve					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Intercounty Engineering,Inc. [Ad]	First Offer - \$34,000.00	2 / each	\$68,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Atlantic Concrete and Mechanical Inc	First Offer - \$35,000.00	2 / each	\$70,000.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Florida Design Drilling Corp.	First Offer - \$38,000.00	2 / each	\$76,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
PC Construction Co.	First Offer - \$41,500.00	2 / each	\$83,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Hinterland Group, Inc. [Ad]	First Offer - \$48,000.00	2 / each	\$96,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Mills Elecric Service, Inc. [Ad]	First Offer - \$92,401.00	2 / each	\$184,802.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Y2113648C101-07 Test Pit					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PC Construction Co.	First Offer - \$1,525.00	8 / each	\$12,200.00		Υ
		Supplier Product Code: Supplier Notes:			
Intercounty Engineering,Inc. [Ad]	First Offer - \$1,700.00	8 / each	\$13,600.00		Υ
		Supplier Product Code: Supplier Notes:			
Florida Design Drilling Corp.	First Offer - \$3,000.00	8 / each	\$24,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Mills Elecric Service, Inc. [Ad]	First Offer - \$9,736.00	8 / each	\$77,888.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Atlantic Concrete and Mechanical Inc	First Offer - \$12,000.00	8 / each	\$96,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Hinterland Group, Inc. [Ad]	First Offer - \$20,000.00	8 / each	\$160,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

Y2113648C101-08 Cut-In 12-inch	Line Stope					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Intercounty Engineering,Inc. [Ad]	First Offer - \$8,575.00	2 / each	\$17,150.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Florida Design Drilling Corp.	First Offer - \$10,000.00	2 / each	\$20,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Hinterland Group, Inc. [Ad]	First Offer - \$15,000.00	2 / each	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
PC Construction Co.	First Offer - \$22,000.00	2 / each	\$44,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Mills Elecric Service, Inc. [Ad]	First Offer - \$26,086.00	2 / each	\$52,172.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Atlantic Concrete and Mechanical Inc	First Offer - \$27,000.00	2 / each	\$54,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Y2113648C101-09 Transdyne Integ	ration					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Hinterland Group, Inc. [Ad]	First Offer - \$26,000.00	2 / each	\$52,000.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
PC Construction Co.	First Offer - \$28,000.00	2 / each	\$56,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Florida Design Drilling Corp.	First Offer - \$30,000.00	2 / each	\$60,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Mills Elecric Service, Inc. [Ad]	First Offer - \$32,889.00	2 / each	\$65,778.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Intercounty Engineering,Inc. [Ad]	First Offer - \$35,600.00	2 / each	\$71,200.00	Υ	Υ	
		Supplier Product C Supplier Notes:	ode:			
Atlantic Concrete and Mechanical Inc	First Offer - \$36,500.00	2 / each	\$73,000.00	·	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Supplier Totals

f Florida	Design Drilling Corp.		\$1,294,000.00	(9/9 items)
Bid Contact	Jeffrey Holst	Address	7733 Hooper Road	
	jeff@fldrilling.com		West Palm Beach,	FL 33411
	Ph 561-844-2966			
Bid Notes	Attached.			

		Supplier Attached.			ead ttch:
Bid					\$40,740.00
Allowance	struction Co.		\$1,306,000.00 (9/9 ite	mc)	
	Karyn Carstensen	Address	193 Tilley Drive	1113)	
	kcarstensen@pcconstruction.com Ph 802-651-1233	/ www. 555	South Burlington, VT 05403	3	
Bid Bond	(Status: Authorized on Apr 6, 2017)				
Agency No	tes:	Supplier	Notes:		ead ttch:
Bid Allowance					\$40,740.00
	nty Engineering,Inc. [Ad]		\$1,312,383.00 (9/9	items)	
Bid Contact Maurice Hynes smcdougle@intercountyengineering.com Ph 954-972-9800 Fax 954-974-0042			Address 1925 N.W. 18th Sopompano Beach, I 33069		
Supplier Cod	de VC0000036067				
Agency No	tes:		Supplier Notes:		Head Attch:
Bid Allowance					\$40,740.00
f Hinterla	nd Group, Inc. [Ad]	Ş	\$1,515,000.00 (9/9 items)		
Bid Contact	Daniel Duke III info@hinterlandgroup.com Ph 321-633-7066 Fax 561-640-3504	Address	5580 S.R. 524 Cocoa, FL 32926		
Bid Bond	(Status: Authorized on May 8, 2017)				
Agency Notes:		Supplier	· Notes:	Head	Attch:
Bid Allowance					\$40,740.00
f Atlantic	Concrete and Mechanical Inc		\$1,547,000.00 (9/9 items	s)	
Bid Contact	Joe Brown jbrown@acmfla.com Ph 904-866-0392	Address	P.O. Box 551315 Jacksonville, FL 32255		
Agency No	tes:	Supplier	Notes:	Hea	d Attch:
Bid Allowance					\$40,740.00
f Mills Ele	cric Service, Inc. [Ad]		\$1,731,000.00 (9/9 it	ems)	
Bid Contact	James Stubblefield jstubby@millselec.com Ph 954-640-5262 Fax 954-640-5263	Addres	s 830 NW 57th Court Ft Lauderdale, FL 33309		

County Commission					
VC0000025035					
CBE					
Bid Bond					
s:	Supplier Notes:	Head Attch:			
		\$40,740.00			
	VC0000025035 CBE Status: An error occurred during verification. Bond	VC0000025035 CBE (Status: An error occurred during verification. Bond Not Found) S: Supplier Notes:			

No Bids

Nevco Electric Supply Inc UNABLE TO PERFORM REPLACEMENT OF GENERATOR

RF Environmental Services Over Budget